Chapter 10
Exercise Set 10.1

Evaluate the function at the indicated values.
1. f(x)=x"-2x+5; x=-2,-10,12

2. f(¥)=x’+x; x=-2,-1,0,1,2

3. f(0)=Yx*; x=-2,-1,0,1,2

4. f(x)=‘1—x; x=-3,-113,5

5. f()=—2; x=—2,-1,0,12
1+2x
|x+l|

6. f(x)=—"; x=-4,-3-2,0,1.2
x+1

7. f()=2x+1; x=—%,o,%,3,5,4
x*-1

8. f(r)=""%; x=—2,-1,0,1,2
x°+1

9. f(x)=vx"+x-2; x=-5-3-2125

10 f()=x+——; x=-2,-10,,2
x°+1
1. fr)=— 41 x—2 1012
' 2x+1l 2x-1"" 7

12. f(x)=(x-1; x=-3,-2,-1,0,1,2,3

Find the domain of the given function.

13. f(x):ﬁ 14. f(x)=+x-2
x+2

xi-1

15. f(x)=x"—4x+4 16. f(x)=




17. fr)=—2"% 18. f(x)=5-x

x*+2x-15
x—1
19. f(x)=2x-3 20. f(x)=
3x-1
2. fay=Xx+6 22. f(x)=x-3
2x*—x-1
2. )= 2. fry=3 L
. x—3| . x° +6x
25. f(x)=+3x-5 26. f(x)= 1
3x-5
1 Vx4l
27. = 28. f(x)=
f(x) 32 e 14 S(x) o
Find a function f with the given domain.
29. Domain(f)=(~w,~2] 30. Domain(f)=3,)
31. Domain(f)={x € R:x#2} 32. Domain(f)={x € R:x#2,x#-2}
33. Domain(f)=[%,oo) 34. Domain(f)={x eR :x¢0,x¢5}

35. Domain{f)= (2,00) 36. Domain(f)= [—2, 5) v (5, 00)



Exercise Set 10.2

Solve the given equation.

1. l:i 2. \fx—l:2
x x+4
3. 1+L:6 4, ‘3x‘=12
x 5x
5, Y2l 6. L 1__1
3 x+1 3 3x+3
7. [2x-5=7 8. 3\3x+1-5=7
9. x—X=-*11 10. |x—4/=0.01
3 2
1. 272 _, 1l 1.3
3 x 2 4
3L 23 14. [F23 0
2x—-1 2 4x-2 5
15. 47-3x =12 16, 2 4 1 1

x-1 x*+x-2 B x+2

17. |9-2x=7 18. |2x+6|=4

1932 _ 1 20, 1, xt4_,

x x+1 xX*+x 2 3

3 4
21. ./3x—-6/=3 22. =—
‘ ¥ ‘ 2x+1 5x




